C Language Programming: Homework #8
Assigned on 01/01/2017(Sunday), Due on 01/16/2017(Monday)
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rdtsc: count the number of clock cycles of CPU
Function How to use?
inline unsigned long long int rdtsc() unsigned long long int begin,end, result= 0;
{ begin=rdtsc();
unsigned long long int x; Il executing code you want to measure
asm volatile ("rdtsc” : "=A" (x)); end=rdtsc();
return x; result = end-begin;
}
. Output File(serach 2 HF5E 28 - insert f delete )
result.txt Search 5EE 4 HY 45 5
Result format 2994414534
3862120536
2571721983

(EI'J.E match {1 value » $EFT 1000 L4
TARMINER)




8. Score
1. create and search 50%
2. insert 15%
3. delete 15%
4. report 20%
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